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ECONOMICS

Full Marks : 80

Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks
for the questions.

PART-A (& -T™)

Q. No. 1 (i=-vi) carries 1 mark each 1x6 = 6
Q. Nos. 2 (i=-vi) carries 2 marks each 2x6 = 12
Q. Nos. 3 =6 carry 4 marks each 4x4 =16
Q. No. 7 carries 6 marks 6x1 = 6

Total = 40

PART-B (¥ -&)

Q. No. 8 (i-vi) carries 1 mark each 1x6= 6
Q. Nos. 9 (i-vi) carries 2 marks each 2x6 =12
Q. Nos. 10 - 13 carry 4 marks each 4x4=16
Q. No. 14 carries 6 marks 6x1= 6

Total = 40

Total (PART A & B): 40+40=80
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L Answer the following :

PART-A / F-5124
1%6=6

FafiRe o vey we

(1)

(11)

(111)

(iv)

(v)

(vi)

Define personal disposable income.,
TS AR Witz it i |
What is the primary objective of commercial bank ?
AT D 2t o G
Net indirect taxes are estimated as —
=G (Net) Sizat= 3w 757 —
(@) Indirect taxes + Subsidies
AT T + Ay
(b)  Subsidies - Indirect taxes
AR - AT
(c) Indirect taxes - Subsidies
AT 9 - AW
(d) Both (b) and (c)

(b) 9% (c) TeT

(Choose the correct option)
(&% 45 [R5 F03)

Give two examples of capital expenditure of the government budget.
TR MG A4 RS 775 Twrzgel wis |

What type of budget should the government prepare during inflation ?
T Io7 A TR [ Q0= 0G5 9w 40 F1e) 2

[norder to encourage investment in the economy, the central bank will
adopt which of the following measures ?

T fere R Seifzs s @ @@ O A @ AT Az
PARY?
(n) Increase cash reserve ratio
A5 FAIHCR At i FA@
(b) Reduce cash reserve ratio
q9V AR TG ATS I FAE
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(¢) Increase bank rate

T WL I
(d)  None of the above
TR GIF(0'6 Y
: (Choose the correct option)
(a7 [4F5 @619 F041)
2. Answer the following : ‘ 2x6=12
FefEke eafie T we ¢

(i)  Afirm produces goods of Rs.500 per year and uses intermediate goods
of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate
gross value addition and net value addition by the firm.

G fb AfoHi AR 500 I T TLATH FCH 938 9T T 250 BIP JLEI
T T AR IR | T IR S »if 2056 2, oiege efewiia
(TG 77 FRCAIGH Ga% 115 71 FCAGH 91 I |

OR/@2t

What do you understand by the problem of double counting in the
context of national income accounting ?

GO S 519 o0 (a9 Saa1d ) Io70e & @R?.

(ii) Calculate national income with the following data :

iR S AR SO OiF Sl FE! 3

GDP at market price : Rs.830 crore
e Wi GDP : Rs.830 (1fb

Depreciation : Rs.120 crore
' o@Eg 3 Rs.120 (I

Net indirect taxes : Rs.70 crore
7% 2rars 34 ¢ Rs.70 &I
Net factor income from abroad : Rs.40 crore

R0 (AT 15 BAWA ST ¢ Rs.40 16

OR /991
Differentiate between nominal GDP and real GDP.
JAE GDP 3. &FS GDP -4a A4 (7l |
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(iti) Write fwo objectives of government budget-

A ATEod 7o Sty ECAl | - dita
(iv) Write. two differences between revenue €xP

expenditure. ‘

Qe A G e e 75 Ay el
Al m capital receipt ?

What is revenue receipt ? How it is different fro
Wﬁr@a?aﬁqﬂ@aﬂ‘@cwmﬁ%?. : y
(v) What is deficit demand ? Write one cause of deficit demant-
5% bifemt [ 2 @7 g5 F1Re Toad Sl
OR /Sl . :
What are the factors that affect investment demand inan economy !

Wﬁf@ﬁﬁmﬁmﬁm@mﬁsmmeﬁﬁﬁ*?

(vi) Write two merits of fixed exchange rate.

Fa fifetara e /6 At crl |
| OR /@24l

Define spot and forward exchange rate.
RffER Sicwe 2 ag weae A0 FRE! G|

Explain the expenditure method of calculating national income. 4

IS S A1 7 A @i @l |
OR/Q4qr
Discuss the circular flow of national income in a two sector economy.
fre Heifere GO [ WTE b AaZ QDA &4l |

Discuss the functions of money.

U FIOTR A S

There is a plan to increase national income from Rs.1500 ¢
crore. If MPC = 0.6, then what should be the change in investrl;?;r(:ttt(; RS}.:?OOO
achieve

the goal ?

ol SeRfeT TSR WE Rs.1500 (I 1 (30F Rs.4000 =15 3 5 zr:n:
oifaesl <=1 2] Wi MPC = 0.6 T, ORTA 9 703 e zeqm b
sifge) wg RIS e I - REIH By 3
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, | OR /G124t
What is marginal propensity to consume (MPC) and marginal propensity to
save (MPS) ? Show that MPC+MPS=1 1+1+2=4

wifirs Teelt ekeel (MPC) @3% 2ifes 7w eaere (MPS) {2 ordte (3
MPC+MPS=1|

6. Outline how equilibrium exchange rate is determined in free market system.

& G ZE SR [ 7 fdd afem wReset et
OR /<1

Write a note on ‘balance of payment’.

‘oifaTeiiTe rer-7 Rat @@l ol (AT |

7. Discuss the working of investment multiplier with example. 6

Twrzaery el e @ afdm aEna S
OR/G%41

Explain diagrammatically how equilibriumlevel of employment and income
is determined in a two sector economy with the concept of aggregate demand
and aggregate supply.
ey wefiore e 5ifZl Gag AR (IR QIae A [FSIra Sy o
@ franata wa diad <=1 wr ez Qe <

PART-B / 4-9

8.  Answer the following: 1x6=6
fafiRe wofm Te e
(i)  Whatis poverty line ?
wifgw R e ,
(i) Name any two Navaratna industries.
(@ () o ARIE SR A A
(iii) Who is known as the architect of economic planning in India ?
SRR SeiATes AR el 1 (@ Afbe?
(iv) What do you understand by jobless growth ?
RN Tagm T=e & @R?
(v) Name fwo unconventional sources of energy.
(2 75 SATPRITS T AN AL

33T ECON (BENG) - [3] - Contd.




_—'.3: http://www.elearninginfo.in

(1) _\\\"hich of the following, is a cause of ozone layer depletion ?
RIS (@R i wa A GBfD el 2
(@ Noise pollution / X1 el
(b))  Air pollution / WY Ay

(©)  Water pollution / & Gl
(@ None of the above / Toirad qabe 7
(Choose the correct option)
(8% [0 (g T3)
9. Answer the following : 2x6=12

A=ERe ePafer Teg wia

(1) Write two objectives behind infrastructure development in India by the
British government during Colonial rule.
T I | ' |
(it)  Write two objectives of NITI Aayog.
NITI Neaess 75 Sty e |
OR /923!
Write two factors that necessitates the introduction of economic reform
in India. _ :
SR A WA TR 7/ B i |
(iii) Correctly match the two sides of the following table :
et oiferefba 46 @ wweie feme ¢
Country Rank Based on Human Development Ihdex‘2022
7 2022 AT TR T T fefirs
India/ 7@ ' 79
China/5H 129
Pakistan/#1f&%m 132
Bangladesh /3K#10 , 161
(tv) Write the full from of AYUSH.
AYUSH -2 377 7 (el |
OR /%! \

- What do you understand by medical tourism ?

“fofea 6w’ aerce f& @l ?
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() Write one positive and one negative impact of globalisation in the Indian
economy.
SRS WLRIRTS RANER G375 (RINS G- G370 AT e |
(vi) Write two differences between formal and informal sources of rural
credit.
QI TR TR SR TIGHIAE SR 70 AL Tl
Write the features of the Industrial Policy, 1936. - 4
1956 2T STAIfE wIfea EHEAER G |
OR/S%41
Briefly discuss the problems faced by the Indian agriculture sector in
pre-reform period. |
SE-AER E TR S e TYIR 26T ATAFAIZ FACFCA FCEG S|
Discuss four important causes of poverty in India. 4
CRSACHE NiFwe 5170 T2 A WAL T |
Write a note on condition of health infrastructure in India. 4
ST A% AR g Rw «al T e
OR/@%q
What is workforce ? Write the causes of low workforce participation rate of
female as compared to male. 143=4
e ) ¢ o TR W T wede R T TR 6T TR Al
Write a comparative note on the contribution of agriculture, industry and
service sectors to the respective economies of India, China and Pakistan. 4
SRS, B GRe AR SERIere oreiefei $E, TUie 3% (A1 A0S UHE Wit
G356 TIES DI S A |
OR /@
Briefly describe the path of economic development of China.
SR e TR SRENR R AU 361 T
How is human development a broader term as compared to human capital ?
What are the main problems of human capital formation in India? 3+3=6
TR JETR IR W SRRCNE Rl (R 1A 0 R 7 SIS A A
SRR AW TG & A
OR/G=T
Discuss how agricultural activities can be diversified. 6

SRR R oY/ Wb 1 (T =i e il

X
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